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Supplementary Table S3 : Percentage Convergence, efficiency, coverage and Bias for Increasing
Numbers of Copies (averaged over 5000 simulated datasets): 98% vs. 95% (RD=0.030).

Numbe Risk difference Y Coverag | Bias
ot Converged ®D) 95% CI for RD N
copies | m (%) | Estimate | SE* | LL UL
0 1987 (39.7) | 003 | 0025 | -0013 | ooss | *° | o006
1000
10 | 5000 (1000) | 0024 | 0044 | -0062 | 0.110 -0.006
9.9
20 | 4950 (99.0) | 0026 | 007 | 0111 | 0163 -0.004
6.6
50 | 4403 (88.1) | 0.028 | 0031 | -0.033 | 0089 -0.002
w00 | s s | oo | oo | 0023 | oo | | ooz
500 | 2649 (53.0) | 003 | 0.026 | -0021 | 0081 o 0.000
925
1000 | 2397 (47.9) | 003 | 0026 | 0021 | 0081 0.000
1500 | 2255 @sa) | 0029 | oos| 0020 | oors | 2| 000
925
2000 | 2188 (438) | 004 [ 0025 | 0009 | 0089 0010
929
3000 | 2089 (418) | 0029 | 0025 | -0020 | 0.078 -0.001
s000 | 1977 (54 | ooss | 0025 | oo | oos7 | 2| ooos
925
10000 | 1772 (289) | 004 | 0025 | -0.009 | 0.089 0010
929
50000 | 1446 (27.6) | 0038 | 0.026 | 0013 | 0.089 0.008
954
100000 | 1380(27.6) | 004 | 0026 | 0011 | 0091 0.01

CI: Confidence interval  LL: Lower limit UL: Upper limit *SEs were multiplied by V(K) to convert them to the
original scale




